Algebra 2 - Smith		
6.6 Using Factoring to Solve Polynomial Equations


Objective 1: _________________________________________________________________________________   

· The zero factor property: if the product of two numbers is zero, _________________________________________________________________________
Example: Solve the quadratic equation.
a) 




Objective 2: _________________________________________________________________________________   

Example: Solve the following equations.
a) 					d)    




b) 					e)    





c) 					f)    






Objective 3: _________________________________________________________________________________ ___________________________________________________________________________________________ ___________________________________________________________________________________________  
· To find the x-intercepts of the graph of a quadratic function , _________________ _____________________________________________________________________________________
· To find the x-intercepts of the graph of a cubic function , _______________ _____________________________________________________________________________________ 
· We can verify our solutions by _____________________________________________________ ______________________________________________________________________________
Example: Find the x-intercepts of the graphs of the following functions.
a) 





b) 







Objective 4: _________________________________________________________________________________ 
· A quadratic model is a ______________________________, or _____________________, that describes the relationship between two quantities in an _______________________________________________.


	Year
	Revenue (billions of dollars)

	2000
	23.7

	2001
	22.6

	2002
	23.8

	2003
	25.8

	2004
	29.1


Example: The annual revenues of American Express are shown in the table for various years. Let r be the annual revenue (in billions of dollars) of American Express in the year that is t years since 2000. A model of the situation is .
a) Does the model fit the data well?

b) [bookmark: _GoBack]Predict the revenue in 2014.



c) Predict when the revenue will be $39.7 billion.




Objective 5: _________________________________________________________________________________ 
· The area of a rectangle is given by the formula _____________________________.
Example: A person has a rectangular garden with a width of 9 feet and a length of 12 feet. She plans to place mulch outside of the garden to form a border of uniform width. If she has just enough mulch to cover 100 square feet of land, determine the width of the border.
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